SSF JAMIA MILLIA ISLAMIA

JMI: Class 11 Commerce - 2018

Q-1: When was WTO set up?
A. 1895 B. 1995
C. 1998 D. 2000

Q-2: Per capita income is a test to measure the extent of

A. Poverty B. Inequality

C. Insecurity D. None of these

Q-3: Which part of the constitution provides Fundamental Rights to citizen?

A. partll B. Part Il

C. Partiv D. PartV

Q-4: Who called India as “Hind”o?

A. Greeks B. Mughals

C. Arabs D. English

Q-5: When was the Act against the evil of sati system passed?

A. 1820 B. 1825
C. 1829 D. 1830

Q-6: In which year was the publication of Times of India started?

A. 1855 B. 1861
C. 1863 D. 1865

Q-7:Who advocated the teaching of westernlearning with the English as the medium of
education inIndia?

A. Clive B. Macaulay
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C. Woods D. Cornwallis

Q-8: What was the name of the news paper started by Maulana Abul Kalam Azad?

A. Quami Awaz B. Nai Duniya
C. Inquilab D. Al-Hilal

Q-9: What is the share of the total net sown area in India?

A. 70% B. 46%
C. 22% D. 58%

' MIA
Q-10: Black soil is also known as SSF JAMIA M““u
A. Clay B. Regur
C. Loam D. All of these
Q-11: Thefirst Jute Mill was established at in 1855
A. Rushra B. Burdwan
C. Orissa D. Bihar

Q-12: Border Roads are also known as

A. Strategic Roads B. Non- Strategic Roads
C. Colonial Roads D. State Roads

Q-13: “Project tiger”o was launched in

A. 1973 B. 1937
C. 1903 D. 1907

Q-14: Camels are associated with

A. Kerala B. Assam
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C. West Bengal D. Thar Desert (Rajasthan)

Q-15: Rawatbhata Nuclear power plant is situated in

A. Rajasthan B. Tamil Nadu
C. Jharkhand D. Gujarat
Q-16: Nellore Mica is situated in SSF JAMIA MII.IA. ISLAMIA
A. Andhra Pradesh B. Bihar

C. Jharkhand D. Rajasthan

Q-17: Neyveli Coal Mines are situated in

A. Orissa B. Tamil Nadu

C. Assam D. West Bengal

Q-18: Which one of the following industries uses bauxite as a raw material?

A. Aluminium B. Cement

C. Steel D. Jute

Q-19: Rourkela Iron and Steel Plant is situated in

A. Orissa B. Jharkhand

C. West Bengal D. Karnataka

Q-20: What is the total length of inland navigation water ways of India?

A. 14,500 km B. 20,000 km

C. 39,429 km D. 19,520 km

Q-21: In which of the following state is the black soil found?

A J&K B. Guijarat
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C. Rajasthan D. Jharkhand

Q-22: Who issues the one Rupee note in India?

A. State Bank Of India B. Reserve Bank of India
C. Ministry of Finance D. President of India
Q-23: Shimla Agreement was signed between SSF ]A'M M" ISLAMIA
A. India and Pakistan B. India and China

C. India and Bangladesh D. India and Russia

Q-24: Which organ of the UNO enjoys Veto power?

A. Security Council B. General Assembly
C. Trusteeship Council D. ICJ

Q-25: Who built Kailasa Temple?

A. Mauryas B. Pratiharas

Rashtrakutas
C. Gupta D.

Q-26: Who noticed the permanent settlement system?

A. Lord canning B. Lord Curzon

C. Cornwallis D. Dalhousie

Q-27: Who is called the ,,Father of Modern India"?

A. Raj Ram Mohan Roy B. Dadabhai Naoroji

C. Mahatma Gandhi D. Ishwar Chandra Vidayasagar

Q-28: Which was the news paper started by Bal Gangadhar Tilak?
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A. Partap B. Inquilab

C. Kesari D. Punjab Kesari

Q-29: When was the Muslim league formed

A. 1900 B. 1905
C. 1906 D. 1907

Q-30: When was the Quit India Movement launched?

A. 1932 B. 1935

C. 1940 D. 1942

Q-31: Who established Vietnamese Communist party? S 1 8L 1L MILLIA_ ISLAMIA
A. Liang Qichao B. Ho Chi Minh

C. Huynh Phu D. Phan Boi Chau

Q-32: Vietnamese Communist Party was established in

A. 1940 B. 1945
C. 1954 D. 1930

Q-33: Mahatma Gandhi returned to India form South Africa in

A. 1915 B. 1916

C. 1917 D. 1919

Q-34: Gandhiji started Satyagraha movement for the first time in India in

A. Bardoli B. Dandi
C. Champaran D. Wardha

Q-35: The leader of the Bardoli Satyagraha (1928) was

pg. 5 www.myteachingrobot.com



http://www.myteachingrobot.com/

A. S.V. Patel
C. V.J. Patel

Q-36: The leading producer of coffee is

A. Assam

C. Kerala

Q-37: Which of the following is not a Kharif crop?

A. Cotton
C. Maize

Q-38: Salal project built on

A. Chenab River

C. Ravi River

Q-39: Koyna project situated in

A. Bihar

C. Rajasthan

Q-40: ,Wind super power'o in the world is

A. India
C. USA

M.K. Gandhi

. Mahadev Desai

Karnataka

. Uttar Pradesh

Groundnut

. Mustard

. Jhelum River

. Ravi River

Mabharashtra

Tamil Nadu

Norway

Netherland

Q-41: Area of square is What could be the side of the square?

A. 10cm
C. 1l4cm

B. 12cm
D. 16 cm

Q-42: What is the length of a diagonal of a square of side 8 cm?
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A. 8cm B. 16cm

C. 8\2cm D. 4V2 cm

Q-43:Inarighttrianglethelength ofthehypotenuseand asidearerespectively5 cmand 3 cm, find
the other side of the triangle

A 3 B. 4
C. 5 D. 2

Q-44:Find thesmallestsquarenumberwhichisdivisiblebyeachofthenumbers6,9and15

A. 60 B. 900
C. 120 D. 150

Q-45: Find the smallest number that is divisible by each of the number 4, 9 and 10

A. 90 B. 150
C. 180 D. 300

Q-46:Find the smallestnatural numberbywhich 392 mustbe multiplied so thatthe product is a
perfectcube .

SSF JAMIA MILLIA ISLAMIA

Q-47:TheSmallestnumber by which 243 mustbe multiplied so thatthe productisaperfect cube.

A 2 B. 3
C. 4 D. 5

Q-48: Thesmallestnumberbywhich 3087 mustbe multiplied so thatthe productisaperfect cube.

2 B. 3
C. 5 D. 15
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Q-49:By which smallestnatural number should 5488 be divided so that the quotientisa perfect

cube.

A 2 B. 3
4 D. 5

Q-50: By which smallestnumbershould 1188 bedividedso thatthequotientisaperfect cube?

SSF JAMIA MILLIA ISLAMIA

A 11 B. 22

C. 44 D. 55
Q-51: Atwhatrate percent per annum simple interest will a sum of money double itselfin 8 years?

A 95% B. 10%
C. 12.5% D. 8%

Q-52: At what percent perannum simple interest will a sum of money be five timesin 16 years?

A. 15% B. 20%
C. 25% D. 30%

Q-53: A certainsum doublesin7 yearsatsimpleinterest. The same sum will become four times in

A. 14 years B. 21 years
C. 28years D. 35years

Q-54:Acertainsum doublesin 5yearsatsimpleinterest. The same sum willbecome three times in

A. 10 years B. 15years
C. 20 years D. 22 years

Q-55:Thesimpleinterestonacertainsum5% perannumfor3yearsand4yearsdifferbyRs.
42. The sum is
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A. Rs. 210 B. Rs. 280

C. Rs.750 D. Rs. 840
Q-56: An item is sold 5, 225 after allowing a discount of 5%. Find its marked price.

A. 5000 B. 5500
C. 6000 D. 6500

Q-57:Onsellinganarticleatacertain priceamaingins10%. Onsellingthe samearticleat double
the price, gain percent is

A. 20% B. 100%
C. 120% D. 140%

Q-58:Iftheselling priceof 10 pensis thesameas the cost priceof 12 pens, thengain percent is

A 2% SSF JAMIA MILLIA ISLAMIA B 12%

C. 20% ' D. 25%

Q-59:Bysellingaradio forRs. 950, amanloses 5%. What percentshall the gain by selling it for Rs.
10402

A 4% B. 4.5%
C. 5% D. 9%

Q-60: Theselling price of an articleis 6/5 of the cost price. Thegain percentshall the gain by selling it
for Rs. 10402

A, 20% B. 25%
C. 30% D. 120%

Q-61:Ifanarticleissoldatagainof5%insteadofbeingsoldatalossof5%.AmangetsRs. 5 more. What
is the cost price of the article?

A. Rs.50 B. Rs. 40
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C. Rs.60 D. Rs. 80

Q-62: If and then

A 172 B. 116
C. 162 D. 126
Q-63:1If and then ?

A. 67 B. 31
C. 40 D. 58

Q-64: The sum of three consecutive multiples of 11 is 363. Find the last number:

A 121 SSF JAMIA MILLIA ISLAMIA B. 132

C. 143 ’ D. 110

Q-65:Sum of two numbersis 95.Ifoneexceedstheotherby 15, find thelargernumber.

A. 40 B. 55
C. 65 D. 60

Q-66: ,Always speak the truth' is an example of

A. Order B. Advice
C. Request D. Prohibition

Q-67: Change into assertive. “Must you go now?”o

A. Why must you go B. Alas! Must you really go?

C. Itissad that you have to go now. D. You must go now.

Q-68: The sentence ,Please do me a favour', is

A. Assertive B. Interrogative
C. Imperative D. Exclamatory
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Q-69: ,,Hurrah! We have won the match", is

A. Assertive

C. Imperative

Q-70: The sentence ,Alas! I have failed in presentation), is

A. Joy
C. Surprise

Specify the sentences (Q.71-75)

Interrogative

. Exclamatory

Sorrow

. None of these

Q-71:The girtls are reaching their books.

A. Simple Present

C. Present Perfect

Q-72: Are you inviting me to your birthday party?

A. Simple present

C. Present Perfect

Q-73: He is constantly avoiding studies.

A. Simple Present

C. Present Perfect

Q-74: Why is she not helping you?

A. Indefinite; Interrogative & negative

C. Past continuous; interrogative & negative

Q-75: I was ironing my clothes:

A. Simple past
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Present Continuous

Past Perfect

Present Continuous

. Past Perfect

Present Continuous

. Past Perfect

Present continuous; interrogative and

Future continuous; interrogative and

negative

. Affirmative Past Continuous
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C. Interrogative past continuous D. Negative past continuous

Change of narration(Q.76-80)

Q-76:Rajesh said to me, “It is all due to you that I have been put to trouble.”o

Rajesh told me that it was all due to me that he had
been put to trouble.

Rajesh said to me that it was all due to me

B. that he had been put tp trouble.

c. Rajeshsaid to me that it was all duetomethathe 5 None of these
had been put to trouble.

Q-77: The teacher said, “Boys I shall not take your class today.”

The teacher said to the boys that he will not
take their class that day.

The teacher told the boys that he would not

B. take their class that day.

C. The_: teacher said to the boys that he would nottake 5 None of these
their class that day

Q-78: The teacher said to me “ You are the weakest boy in the class. Unlessyou work hard, I cannot
promote you to the next class”o.

The teacher told me that | was the weakest
boy in the class and that unless | worked

B. hard he will not promote me to the next
class.

The teacher told me that | am the weakest boy in
A. the class and that unless | worked hard he could
not promote me to the next class.

c. the teacher told me that I was the weakest he D. None of these
could not promote me to the next class.

Q-79: He asserted that he was the master in his house. SSF JAMIA MI“IA' ISLAMIA

A. He said, “I am the master in my house”* B. He told “I was the master in my house
C. He said “T was the master in my house”* D. None of these

Q-80: The culprit pleaded that he was innocent.

The culprit said, “I am

A. The culprit told, “I am innocent”e B. . »
nnocent’’®

C. The culprit said, “I was innocent”e D. None of these

Q-81: “God Bless you™o is
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A. Optative sentence B. Negative sentence

C. Both (a) and (b) D. None of these

Q-82: The synonym of ,,connect" is

A. Chain B. link
C. join D. tie

Q-83: The antonym of ,ancestor"is SSF JAMIA MILLIA ISLAMIA
A. forefather B. descendant
C. death D. diffident

Q-84: The antonym of ,optional"is

A. necessary B. compulsory

C. conditional D. involuntary

Q-85: Theaeroplane flew our head.

A. On B. over

C. upon D. None of these

Read the passage and choose appropriate answers from the options: (Q.86-90)

The condition of happiness is the life of reason. Virtue or rather excellence will depend on clear
judgement,self controland symmetry of desires. Itis notthe possession of the simple man, nor thegift
ofinnocentintent, buttheachievementofexperiencein thefully developed man. Yet, thereisaroad to
it, which may save many detours and delays. Itis the middle way. Thequalitiesofcharactercanbe
arrangedinthetriadsineachofwhichthefirstandthe qualities will be vices, and the middle quality, a
virtue excellence. So, between cowardice andrashnessiscourage,betweenstringinessand
extravaganceisliberty,betweenslothand greedisambition, between secrecy andloquacity ishonesty,
between quarrelsomenessand flattery isfriendship.

Q-86: What is the main idea of the passage?
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Happiness can be achieved by following the B. The qualities of character are three

" middle path. extremes and middle.
C. The middle path can save many detours. D. None of these
Q-87: What is the chief condition of happiness? SSF JAMIA MILLIA ISLAMIA
A. Virtue B. Middle path
C. Self-control D. All of these

Q-88: Which of the following is the most suitable title for the passage?

A. Qualities of character B. Chief condition of happiness

C. Golden mean D. None of these

Q-89: What is the implied meaning of the passage?

A. Happiness depends on physical qualities B. Rational approach lies in following the

middle path.
C. Excellence should be achieved. D. Self-control is necessary.
Q-90: What is between cowardice and extravagance?
A. Ambition B. Modesty
C. Honesty D. None of these
Q-91: The UN was founded in the year:
A. 1919 B. 1939
C. 1942 D. 1945
Q-92: The term United Nations was coined by
A. Franklin D. Roosevelt B. Abraham Lincoln
C. Winston Churchill D. None of these

Q-93: For how many years Secretary General is appointed?
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A. 3years B. 4 years

C. 5years D. 6 years

Q-94: International Bank of reconstruction and Development is better known as:

A. Citi Bank B. World Bank
C. Global Bank D. State Bank International

Q-95: First Olympic games were played in

A. Greece B. Spain
C. ltaly D. USSR

Q-96: The national game of Spain is

A. lce Hockey B. Jiu-Jitsu

C. Bull fighting D. Rugby Football
Q-97: Formula-I Race is associated with SSF JAMIA M|||5LAM|A
A. Grand Prix B. Grand Slam

C. Johnnie Walker classic D. Green Oscar

Q-98: Who istheauthor of “Suitable Boy”?

A. Nirad C. Chaudhuri B. Vikram Seth
C. R.K. Narayan D. A Ghosh

Q-99: Who was theleader of Ghadar Party?

A. Bhagat Singh B. Lala Har Dayal
C. B.G.Tilak D. V.D. Savarkar

Q-100: Whatisthenumberofspokesinthe Dharmchakrain thenational flagofIndia?:
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18

16

24

22

Answer Key "JMI: Class 11 Commerce - 2018"
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